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—EST Z28 AUI0IE 600,0002 600
Oo=2g=g 7,860
-galg 60,0002 »116& 6,960
-HEZRXN g2E 30,0002 »30& 900
O=EH| 3,500,000 3,500
02 S3=gHl 35,710 35,460 250
Os&k= € MA 16,000
2323 4,000,000 4,000
-ARA HIIRs 1,000,000& x12& 12,000
OAlE &I Xl 9,710
~HAF Y HD2AE SR
1,000,000& 1,000
-HEEH SN2l 400,000& 400
=8| w2 U KX
1,000,000 *2CH 2,000
QA RoATZI| 72
1,600,0002 %14 1,600
-ARE 2l & ZelH |A2
150,000 +25CH 3,750
-HYSANHE HHE OV =2l & [l
20,000 =40 =122 960
OXxtg= Al 2,500,000 *4CH 10,000
202 048l 40,500 38,000 2,500
01 2L AL 4,500 2,000 2,500
Osgdd=d 2304l 4,500,000 4,500
02 FHOH 36,000 36,000 0
O H0iH| 200,000& x15F~12& 36,000
203 HR=H] 11,240 10,600 640
01 J|2=2gede=a] 7,000 7,000 0
Ol 2=2gede=a] 7,000,000& 7,000
02 H3AtAHH R F&| 640 600 40
ORIt =AY 40,0002 16 640
04 PAE2EERFAH 3,600 3,000 600
ORN2IYRF=2HI(16Y)
300,000 * 122 3,600
405 AHAHE S 2,000 8,300 26,300
01 Tt =S F = 2,000 8,300 26,300
OgefE HIS 7 2,000,000& 2,000




H & 0l & AHS B Ml A

8 A3l
DIME =X|E N (ST CER-E)
- _ q
L HE - BHI(E) - HIRA - BAS ofl et e HID S
1,210,478 1,174,726 35,752
At 3] 1,042,638 1,011,278 31,360
g SX8E N (SKHH) 1,042,638 1,011,278 31,360
2 RIS ALY 842,000 792,000 50,000
401 AIEHIZL R OHYI 842,000 792,000 50,000
01 AlZHI 840,000 790,000 50,000
OL=2 ol&dFHl & Hdl gt
5,000,000& 5,000
ONchHey & S8=+ 30,000,000& 30,000
OMOtS A= &bl 30,000,000& 30,000
OMOIE A SAH 30,000,000 30,000
OATE FR=JAY AAEH S
15,000,000 15,000
OF4el(8%) th=2 &bI(150m)
30,000,000 =14 30,000
O8Fel(8Y) ti+=2 Zul(100m)
30,000,000 *14! 30,000
CEe(si=H) =2 FHI(200m)
30,000,000& *14] 30,000
OAt=2l(biBte) =2 Z81(100m)
30,000,000 = 14! 30,000
OgSel(LR0H) =2 HZEZ(100m)
30,000,000 *14! 30,000
OE=el(f%) 0r=2et2 FHI(100m)
30,000,000 *14] 30,000
OB A R|(AEH) Gt~ & HI(100m)
30,000,000 = 14! 30,000
O=gte|(0t23/22X) 84 &XI(50m)
30,000,000& * 14! 30,000
Ongel(ois) == FI(100m)
25,000,000 *14] 25,000
O4Zel(s2E) 0kAZ ZH(300m)
25,000,000 & x 14! 25,000
OSdel(&=) th=2 F8I(70m)
25,000,000& * 14! 25,000
O8Fel(8) =2 ¢ ti=== FHI(100m)
30,000,000 *14] 30,000
O& &=L (Ael=ss8 1Y) =2 FHI(70m)
30,000,000 x14! 30,000
OAt=R2I(HAZ) =2 FHI(130m)
30,000,000& * 14! 30,000
O Sel(&IAL b= AdI(100m)
30,000,000 *14] 30,000
O=E=el(423) 84 &X(50m)
30,000,000 x14! 30,000
OHAe|(HARIH) 52 FHI(200m)
20,000,000& * 14! 20,000




2A: aXdH
HI: S AL
CHR: FOIME ST &Y JHE(SXHH) CEREED
2 - e
SN - BB SRI(SI) - NISAY - BES O]t e HlRE2
O=gte|(LH=g) 22 & XI(20m)
30,000,0002 %14l 30,000
Ongel(2Al=) =2 F81(200m)
25,000,000 %14l 25,000
OSR2(HBB) 52 FdI(200m)
20,000,000 %14} 20,000
OS&el(Me2) OtA2 ZAH(400m)
30,000,0002 %14l 30,000
ORF2(M3) =2 =HI(100m)
30,000,000 % 1Al 30,000
CE2(MSAIY) HHA2 FHI(100m)
30,000,000 %14} 30,000
OWAL|(AR0ISF) =2 FHI(250m)
30,000,0002 %14l 30,000
OAFB2I(GHAFR) OFSeH2 SHITEH(100m)
30,000,000 % 14! 30,000
OSQ2(HAIB) 2 FdI(200m)
20,000,000 %14} 20,000
03 AlE2CHYI 2,000 2,000 0
OLn2 FRI=SJAAY 20|
2,000,000 2,000
Nxgs X 56,270 56,270 0
201 Ler2 | 2,700 2,700
03 A2 2,700 2,700
OSXH-HZH &N HSHE A
2,700,00024%13] 2,700
301 YetE X3 53,570 53,570
07 S&-01% - BHEESs2AZ 48,650 48,650
O0l&E=2 & &0z
300,00024 1024 * 142 42,000
Oslolzs & 2244
20,0002 10 %25« 122 4,800
Ot E S 50,0002 %37 1,850
11 BAMAHI XIS 4,920 4,920 0
OFXXES S BIIA S4
1,000,000 1,000
O0IZWS &I S4
8,0002*10Z 23| * 12" 1,920
OSXH-UZH &A HSUHE HIIK SA
2,000,00024%13] 2,000
Xei=xe =4 144,368 153,308 8,940
101 QI24H] 100,600 98,200 2,400
M IIR22TSES 100,600 98,200 2,400
ONTH ZHID| JIHEY ol
100, 0002+ 122+ 102 x33] 36,000

77,0002 x6H 10 *43] 18,480




M sXH
. aH AME 3
Sel: FoldE SXEE N (SXHH) (EEREE))
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
OY=Al S2Xl 22l ol=el
77,0002 x1ZF 100 7,700
O2Fel T&it M4I1 =38 SHID1&d 2182y
100,000 *5% x2 2 33| 3,000
OSSstEA 22| AL (3ML)
77,0003 x2H 70 10,780
Omalgy ze| o=y
77,0008 x1E 170 13,090
OHA U =X3i2 #3FY| 2R
77,0003 *1E*150 11,550
201 B2 AL| 28,368 25,808 2,560
01 ArR2eltl 11,718 10,358 1,360
Oger=2| 3,298
-FEXg2 Y 2l
154,000& «12& 1,848
FU=NEE AaYs 2R
50,0003 *12& 600
-MESE L M| +=H PPN 2
4002 =1,0000H 400
FpI=N|5lB HABE 79
450,000& 450
O=1=1s] 3,800
“RENELLE L SEYLSI| HOBL
=4 2,000,000& 2,000
&2 HIAZ2R S4 1,000,000& 1,000
“HAEES X SA 800,000& 800
odiiz 4,620
-ZHDl € XNE=2 HH S &dl It
770,000 *63! 4,620
02 2324l 16,650 15,450 1,200
O332=2 & HAl 14,250
-S54 323 ¥ KA
450,000 3 *501 & 2,250
Sl 23L3 1,000,000& *12& 12,000
OAE&EHIR XU 2,400
-2e|J| =2l ¥ KRA&L
400,000 +1CH 400
-0l=2| =2l ¥ KXl2a|
1,000,000 * 14! 1,000
-fofet 2E % X2
1,000,000 * 14! 1,000
206 =8l 15,400 15,400
01 M=l 15,400 15,400
OHEH JIZ2stH 22l & =&Y Ms 7
1,800,000& 1,800
OZ2 2 Ji23tt =4 M2(ZM, S, HIZ S)
- 3,600,000& 3,600




M X
33 SH A3
celr =pldE SXEd Hd(SRE) (SH9 &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
O4ABY o T29 BAXY 51x 2
6,000,000& 6,000
OHEZE M 20,0002 *200H 4,000
Y2 AAHI (S XHYH) 167,840 163,448 4,392
QIARAHI(SAH) 63,882 62,790 1,002
el 24| 63,882 62,790 1,002
101 @124H| 63,882 62,790 1,002
01 &2 63,882 62,790 1,092
OAIZRIZR4E
11,7003+ 132 *3BAl 2+ 123 63,882
Jl23HI(EXe) 103,958 100,658 3,300
JI23Hl 103,958 100,658 3,300
201 el 53,258 52,498 760
01 At 22|l 25,288 25,048 2660
Oget=EH| 13,928
-=EH| 8,000,000 8,000
ol JaEs Ay
200,000 x 122 2,400
-STLE(LIZHEE) 018 =42
10,000& =182 180
-EAF 2™ 2 154,000« 12& 1,848
- Z2 8 (AutoCAD) 201
900,000 *1H 900
- Z28(EsT) gaelolse
600,000 *1H 600
O=g=g 7,860
-galg 60,0002 *116& 6,960
-HEZ2N g2E 30,0003 *30! 900
O=gl 3,500,000& 3,500
02 s3=gHl 27,970 26,550 1,420
OsE2= & HA 9,000
-S38s 1,800,000 1,800
-APRA ADIRS 600,000& 122 7,200
(@ftak=4| 1,000
-ARA I =HA G 1,000,000 1,000
OAlZ EHIs Xl 7,970
“EA Y EDAHE FX2E
1,000,000 1,000
-2EEH |2 270,000& 270
-S| w2l & FAl2
1,000,000 2CH 2,000
-EFH 2l & ZelH |X2e
150,000 +26CH 3,900
-FUH201S4 bl FA2c
800,000 800




M X
. dY2IIHI(SNH)
CHel: JI2gUI(SXH) (S &)
SA - B BRA(SH) - HRA - of v e HIDE2
OXt& =Xl 2,500,000 *4CH 10,000
202 04l 38,100 36,600 2,500
01 =LHOHI 4,500 2,000 2,500
Osgdd=d 30| 4,500,000 4,500
02 A0 33,600 33,600 0
OZ 4048l 200,000 x14F 128 33,600
203 =] 10,600 10,560 40
01 D[22 HARFA| 7,000 7,000 0
Ol 22gedR=a] 7,000,000& 7,000
02 H3OtaHA RF&| 600 560 40
OFAINIARE Y] 40,0002+ 1524 600
MU A2 LRSI 3,000 3,000 0
ORAN2ZLRFTHI(169)
250,000 * 128 3,000
405 KHaHE SH 2,000 2,000
01 TR ESF SHI 2,000 2,000
OgRE IS 7+ 2,000,000& 2,000




H & 0l & AHS B Ml A

0238 20laF LetelH 22U
SN 2Ee
g 239 AE3d|
Cel: FOIME SRS N (28H) (CHe: )
2 - IE!
SA - B - SA(SH) - MRA - BES ol &t e HIDSZ
234 1,276,752 1,182,100 94,652
239 A3 1,106,430 1,012,340 94,090
=olME X8 HH(23H) 1,106,430 1,012,340 94,090
a2 FE=SIAAMY 842,000 792,000 50,000
401 AIZHIX 20 842,000 792,000 50,000
01 AlZ28| 840,000 790,000 50,000
OkL=Z ol& ZHl S ZHl Sxt
5,000,000 5,000
Ol oy & S3 =7 30,000,000& 30,000
OMOI= AldE dHI 30,000,000& 30,000
OMOIE Ttx g3 At 30,000,000 30,000
OA7R Fe=JAA HAIEH S
15,000,000 15,000
OR=12l(ZH) iS22 0tAZ IMI((150m)
20,000,000& » 14 20,000
f=2e/(EH2E) =2 EXI(100m)
30,000,000 *14] 30,000
S=32/(E X0t === ZbI(80m)
30,000,000 *14] 30,000
Og2el(etel) A= &XI(50m)
30,000,000& »14] 30,000
OsAtel(2g=) =0 &XI(30m)
30,000,000 *14] 30,000
Oozdhel(24a) s2 ZZ(150m)
30,000,000 *14] 30,000
O3=12(9el) otd M2 Z4I(70m)
30,000,000& » 14 30,000
=32el(Xet==) =2 & XI(100m)
30,000,000 *14! 30,000
OeF2e(2FS) =2 &XI(80m)
20,000,000 *14] 20,000
Os=c(Hegd) 52 HEZ(150m)
30,000,000& * 14 30,000
O==2l(0Kt) =2 & XI(300m)
30,000,000 *14! 30,000
OAlgel(44=) ti=2 & =2 Z&(100m)
30,000,000 *14] 30,000
2220/(LS) e 4
20,000,000& » 14 20,000
PE32(BX0H =2 HEZ(150m)
30,000,000 *14! 30,000
Os=12(A4) HHILE6HE X =4
30,000,000 *14] 30,000
OLFXI(LF=2) =2 = (100m)
30,000,000& * 14 30,000
OR=z2(¢g=) th+2 & =2 ZF(100m)
30,000,000 *14! 30,000




SN 2B
MM 220 AR
Cel: FOIME SRS N (28H) (CHe: )
2 - IE!
SA - B - SA(SH) - MRA - BES ol &t e HIDSZ
ONE2I(tas) 52 2T L Iy
& X1(100m) 30,000,000& » 14 30,000
O=212l(HE) =2 &X1(100m)
30,000,000 *14! 30,000
O==22/(&=) 0tAZ I <I1(300m)
30,000,000 * 14 30,000
Og=el(=EIz0t2) =0 £XI(50m)
30,000,000& x 14 30,000
Ofxc|(fF4) =2 FHI(100m)
30,000,000 *14! 30,000
OAlgel(S45) ti+=2 Z8I(80m)
20,000,000 *14] 20,000
OLFXI(LFS) =2 ZZ(80m)
20,000,000& * 14 20,000
O=Zel(H0I1) =2 X (250m)
30,000,000 *14! 30,000
O=32el(&=) =2 FHI1(100m)
30,000,000 * 14 30,000
03 AIZ=CHYI 2,000 2,000 0
O4n2 FU=TAIEY U
2,000,000& 2,000
HAretd 2t 20,000 20,000 0
401 AIE2BIXL S THYI 20,000 20,000
01 AlZ2H| 20,000 20,000
OFA =X FRHLXIE ZXI(2000)
5,000,000& *14] 5,000
OFAL 10 =4 & oelold e AH Q! X
15,000,000 * 14 15,000
INPNE={=ONE- 80,952 80,952
301 EtE N = 80,952 80,952
07 & - 018 - t¥Es2d= 76,880 76,880
Oold+g & d0i=
300,000 x16H = 14& 67,200
Oflolas U B2+
20,0002 x 16 *23| 122 7,680
Ooptaa=sy| 50,000 x40 2,000
11 dALEBIXNE S 4,072 4,072 0
OFUAXEs S B =4
1,000,000 1,000
O0l¥3le] HATH 54
8,000 x162 *23| 12 3,072
INEE PN = NS 135,550 91,460 44,090
101 @124H| 80,770 59,400 21,370
M IItHZZ2NSE 80,770 59,400 21,370
OuEd ZSHIJ| JIAXY =Y
100,0002 7 & 9 & 32 18,900




A 233
4 23H AMS 3
Chol: FOIME =B M (SEH) (ol @)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
O0gld s&tz2 2| JIAAY 2Y
100, 0002 +424x0 2 %23] 7,200
OsZX A2 B2 AR
77,0002 x1H+502 *13] 3,850
OB2UZY o=y
77,0021+ 10 *5 2 +43] 15,400
OFA 2 =Xal2 22| 212
77,0002 x1Z+200 15,400
O0l=gce 22| A2
77,0003 x1H 260 20,020
201 Zet23 ] 42,280 19,560 22,720
01 AtR2telbl 8,820 7,500 1,320
ER=lest=ull 400
-MHEEE Y M| £ PPEN P&
4002 *1,0000H 400
ozl 3,800
SEHHESE Y SELLES)| B2
=g 2,000,000& 2,000
M2 HIAZRA 24 1,000,000& 1,000
“HESY HF0HA =4 800,000 800
Oogxtz 4,620
-EH01 ¥ NESOHAIE) MA & EHl SXt
770,000 *62 4,620
02 3224l 33,460 12,060 21,400
O33x2= € HMAl 27,000
S S 52=
550,000& * 128 6,600
0S¥ S32= 700,000 * 122 8,400
-OE2H=TME 3323
1,000,000& « 122 12,000
(@ftak=4| 3,600
-SX32 75| 300,000& * 128 3,600
OAlZEHIR X 2,860
S ESIEEIEY T
1,000,000& 14 1,000
-S80=0| 2l ¥ |2l
500,000 *14] 500
~MED| ZYSI| 2AIE OOV R
30,0003~ 1CH* 122 360
-Ol2¥cie 29 & FAl2
1,000,000& 14 1,000
206 =4l 12,500 12,500
01 M=4l 12,500 12,500
OdH JiZstE 2el € H=HE M #Y
1,500,000 1,500
O£ & Itzse 24 ME(ZM, BS,
bz 8) 2 10,000,000 10,000




2N B
Hu: 2ol A
celr =oldE SXEd Hd(28Y) (G2 & 2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OMOIE REESAY HEZ M
20,0002 5004 1,000
FOITA 2ast 27,928 27,928
201 B2yt 21,760 21,760
o1 ARzl 21,760 21,760
OFQUXX Z208 AL (41 2H)
420,002 42 » 122 20,160
OFUNAME HASE L £28 7Y
1,600,0008 1,600
206 2t 4,000 4,000
of HEH 4,000 4,000
OFUNX T2 2 Ha
4,000, 0002 4,000
301 YBT3 2,168 2,168
e EE 2,168 2,168
OFLIRXIAAS 319 HOIPIE 34
8,0002+23%+23] 368
OFURXIFIVE HTT st
1,800,008 +14] 1,800
Y 2IHI(SE0) 170,322 169,760 562
AEEETIEEE)) 63,882 62,790 1,092
ol 2| 63,88 62.790 1,002
101 21218 63,88 62,790 1,002
o1 2 63,882 62.790 1,002
OAISI2R4E
11,7002+ 13243541 21+ 128 63,882
Jl2BH(239) 106,440 106,970 A530
IR 06,440 106,970 A530
201 B2y 55,740 53,810 1,930
o1 A2l 25,180 24,450 730
OYurgt| 13,820
=lt] 8,000, 0002 8,000
~FRIUE HNSE 7Y
200,008+ 122 2,400
-HA gy 2l 160,002 122 1,920
Y E2IB(REMS) H2 01SH 2Y
90,0002 +14} 900
£ST E0IE 600,000 +144 600
O2g+y 7,860
-G 60,0002 1162 6,960
NEELIEE R 30,0002 302! 900
o3zl 3,500, 0002 3,500
02 B2 30,560 29,360 1,200
02282 % HA 10,560
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H & 0l & AHS B Ml A

SA: 2HO
M A0 AR
CHel: FRIME STEE JHH(ZEH) CEREED
% s IE]
SN - BB SRI(SI) - NISAY - BES O]t e HlRE2
2o 1,518,312 1,440,814 77,498
AR AR 1,312,266 1,238,196 74,070
ZOIME =X N (ZEH) 1,312,266 1,238,196 74,070
AR FOISRAIY 997,000 937,000 60,000
401 AIZHIZ 20| 997,000 937,000 60,000
01 Al&H 995,000 935,000 60,000
OS2 slEFH S = 2%
5,000,002 5,000
OADIXI B4 =4 &H| Ut
5,000,0002! 5,000
oMol 2 S2=7 30,000,00024 30,000
OMOIZ AIE2 B 30,000,00024 30,000
OMDIZ TIEEEAY 30,000,00024 30,000
OARR FUHVAY MAILH B
20,000,002 20,000
OXE12l(MoI2) th==2 & XI(150m)
25,000,000 *14! 25,000
Om22|(ZRRB) S2 FI(100n)
30,000,000 *14! 30,000
OSE12I(H2RI0I) B2 X (170m)
25,000,000/ %141 25,000
OS82 (SRAR) Bi42 & (200n)
25,000,000 %14 25,000
O 832)(01) Hi42 &% (150m)
30,000,000 *14! 30,000
ORE12|(2FE) 52 LF(120m)
30,000,000 *14! 30,000
OFE12(ZLB) 2 FHI(150m)
25,000,000 %141 25,000
OF8122] (2HH0I) OFAZ ZE(200m)
30,000,000 *14! 30,000
OFB12|(SH) 42 &% (250m)
25,000,000 %14 25,000
OFE2|(22) Hi4+2 L =2 HHI(200)
25,000,000 %141 25,000
OFIB32| (KIF0]) th4=2 & XI(70m)
20,000,000 *14! 20,000
O eI (= B) Bh4=2 & XI(150m)
25,000,000 %141 25,000
O48t2|(BHEl) 52 HHI(150m)
20,000,000 %141 20,000
OB UZI(AIZIB) Bh<=2 & XI(200m)
25,000,000 *14! 25,000
OSAZI(AZ) bi42 &7 (150m)
20,000,000 %14! 20,000
OK12l(ZAH) BH4=2 4 X (200m)
30,000,000 %141 30,000




2 2
o 2O AL A
Cel: FOIME SRS N (AAH) (SH9: )
z . S[E
SA - B - SA(SH) - MRA - BES ol &t e HIDSZ
OR2el(a4HI912) ti+=2 Zbl(200m)
30,000,002 *14! 30,000
Onl&el(AY) =2 ZHI(150m)
25,000,002 % 14! 25,000
O0l14422(+=EHB) Bi4=2 X1 (100m)
20,000,002 % 14! 20,000
O0I432I(HFB) B2 & X (150m)
25,000,00024*14! 25,000
Ot 12| (HF0DIB) ti==2 &XI(120m)
20,000,002 % 14! 20,000
OCHoH22| (R RHB) B2 « X1 (250m)
30,000,002 % 14! 30,000
Ozel(2el=) s2 ZZ(180m)
30,000,002+ 14! 30,000
OFa2|(ALDIHNE) 52 Z&(200m)
30,000,002 % 14! 30,000
OOrEel(¥=) ti===2 &X1(100m)
20,000,002 *14! 20,000
OBLH2I(HEE) B2 £ XI(200m)
25,000,00024*14! 25,000
ORE2R(2FFB) 2 EZ(150m)
30,000,002 % 14! 30,000
O LHel(ZsS) HYZ OotAZ ZZ(300m)
30,000,002 % 14! 30,000
Oe(Ra=) =2 FbI(150m)
30,000,00024*14! 30,000
ObtEel(nsE) 52 Z&(150m)
30,000,002 % 14! 30,000
Z12I(MXIB) 42 &XI(150m)
30,000,002 *14! 30,000
OFUcl(¢a2) =2 &XI(250m)
30,000,00024*14! 30,000
O=sgtel(29) =2 ZZ(150m)
30,000,002 % 14! 30,000
03 AlZ=20HH| 2,000 2,000 0
OA+R F=o=2AAr 20|
2,000,0008! 2,000
HAEHE 22 28,000 20,000 8,000
401 AIEHIZL S| 28,000 20,000 8,000
01 Al&H 28,000 20,000 8,000
OFD sS4 g4 Y ol M
18,000,000 14} 18,000
O3zloal dtet)| #X|
5,000,0002 <2LH 10,000
XX gs X 143,366 143,366
301 YErEEZ 143,366 143,366
07 S -0 - SRS 136,990 136,990
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2 e
Z& 0 AISEH|
ZolME =T8T (2R D) 221
SN - O(BH) - NRAY - BAS 0l &y A 2
-0l=2| =2l ¥ KXl&c|
1,000,000 * 14! 1,000
206 MZ bl 8,000 8,000
01 =8l 8,000 8,000
OHEH D23t 2tel & =& Mz 7L
2,000,000& 2,000
OZZ 2 II2stct X4 MES(ZM, 22,
Hz ) 2¢ 5,000,000& 5,000
O=X3l2 AUR(H&EY) 22 Mz 2L
1,000,000 * 14! 1,000
HESAAH|(ZAH) 206,046 202,618 3,428
QlESAHY|(AAEH) 83,538 82,110 1,428
ol 2| 83,538 82,110 1,428
101 Q14| 83,538 82,110 1,428
01 2% 83,538 82,110 1,428
OAlIZte 228
11,7003 # 177 «3BA| 2H 12E 83,538
Jl2dy|(Z&H) 122,508 120,508 2,000
Jl=Z| 122,508 120,508 2,000
201 Let2AH| 58,808 56,828 1,980
01 AtR2teldl 25,808 25,328 480
Ogt~ZH]| 13,948
-] 8,000,000& 8,000
-F0late| MAES 7
200,000 =128 2,400
S E(LI2HEH) 018 =8
10,000& *203] 200
AP 2 22| 154,000& * 12& 1,848
-SHEZ2 8 (CAD) 018 =2
900,000& = 1JH 900
~EHZ2 B (EST) Zd01=
600,000 =14 600
ozg=Y 7,860
S 60,0002 116! 6,960
-MHE2RA &= 30,0003 30 900
OZ &l 4,000,000 4,000
02 SE==29| 33,000 31,500 1,500
O3s22 ¥ HA 12,000
-S3R= 3,600,000& 3,600
-ARA JMOIRS 700,000 =128 8,400
Od =zl 500
—APRA Y =XA LY S2H|
500,000& 500
OAIE &I XY 10,500




od
i’
oF
uJ

S8 S &|° & e 218
Q|9 N~ — - S
KIo
E
E=)
218 S 818 8 S 218
DS D NS © S o |5
LH3r
<
RIS
88 8 8 8 S 3I8Isss38 38883388 38|18 88
[ IS (@) Ye) e6) O O~ UL N NI SO o O © OO | O O
— N < - o _M <~ < @ Q — [~ N %) o[ o
al
<
S
o of [ ) 08! o O OF ol [ 80 ol [0
S8 ¥ 8 8 8% S N S & o S ¢
o O Q& X o o q_a o * S ® x S ol_a
=) oFJ w m w 30 > oFJ [ >
o [ E8 8 g & &8 8 = g8 8 8 g 8
5| - 8 s T g v g = = ~ g
2 = _7 o 8 = =
) Ao S
< = =3 £l
z |® T —  O0F I o 30
[ A D = =
B s K n B K = - _ = _
= |l DO RO 0 =5 5353 3 _ 3
o} A A ok ok < ~ i Kl _ﬂ_v Kl _ﬂ_. Kl _ﬂ_v D ol TF
F ol 0 ®m I owm R of O ob OF g- O T o BE
3 =< <+ §F 3 I KE _ |z | 38 & Bz A |5 5
Cl* ws T ow o B R R L U e L Ee___gomo
F |z dwm £ o o3 T2 SikE B s om W R o
K ) | | | | | K|S | Ko o (sl |~ ~ % RO Dk IF = | aol &
* Olal= O &t Ol |= O o« O S O ol|l= O O
I+




H & 0l & AHS B Ml A

SN 220
M 2201 AR
Cel: FoIME SISFNH(22) EERED
2 - IE!
SA - B - SA(SH) - MRA - BES ol &t e HIDSZ
22 1,392,236 1,273,120 119,116
2 At ZH] 1,207,132 1,099,112 108,020
M SXSFME(EEH) 1,207,132 1,099,112 108,020
a2 FE=SIAAMY 917,000 882,000 35,000
401 AIZHIX 20 917,000 882,000 35,000
01 AlZ28| 915,000 880,000 35,000
OkZ otd&EHl S &l Xt
5,000,000 5,000
Oty £ ==+ 30,000,000& 30,000
OMOI= AldE dHI 30,000,000& 30,000
OMOt= AxEesSAg 30,000,000 30,000
OA7R Fe=JAA HAIEH S
20,000,000 *14] 20,000
Onls12l(2) =2 ZHdI(180m)
30,000,000 *14] 30,000
oulgel(SE=) thi+=2 FdI(60m)
30,000,000 *14] 30,000
oudlgze|(aEXE) 2 FdI(100m)
30,000,000 *14] 30,000
Odlg2e|(bt2da) s2 % ti<==2 ZFHI(100m)
30,000,000& »14] 30,000
Os=2cl(sY) === FdI(60m)
30,000,000 *14] 30,000
Ozge(ed) s=2 ZZ(100m)
30,000,000 *14] 30,000
Ozge|(=) =2 FbI(100m)
30,000,000& » 14 30,000
Oztgh2el(21H) s2 ¥ === ZHHI(100m)
30,000,000 *14! 30,000
O2L3el(8S) HANE LR
20,000,000 *14] 20,000
O2+e3el === ZHI(100m)
30,000,000& * 14 30,000
O=1el(ds=) Atet Z81(60m)
30,000,000 *14! 30,000
Osgel(JY) =2 ZZ(100m)
30,000,000 *14] 30,000
Os 22 (ME) His=2 FBI(100m)
30,000,000& * 14 30,000
OJI=1el(AUS) 52 ¥ tH+=2 FHI(100m)
30,000,000 *14! 30,000
OJI=12l(2H20t=2) Bi=2 &81(100m)
30,000,000 *14] 30,000
OJI=2el(M==) === FHI(60m)
30,000,000& * 14 30,000
SH12H(LIH0IS) th=+=2 FHI(50m)
30,000,000 *14! 30,000




A B2H
g 22%H AH3H|
Cel: FolME SXSFINE(22Y) (SH9: )
2 IE!
SA - B - SASH) - MSALY - ol &t e HIDSZ
O=eh2el(OtHel) seE+ o7 &F
30,000,000& » 14 30,000
Odtgel(H=) tH+=2 ZHI1(130m)
30,000,000 *14! 30,000
Ooxdlel(eel2) =2 &HI(150m)
30,000,000 * 14 30,000
O==H12l(0tH0t2) =2 % =2 FHI(100m
30,000,000& x 14 30,000
=Hel(&+=) OS2t =X (100m)
30,000,000 *14! 30,000
O==M2el(Otetz) s2 & bi+=2 FHI(50m)
30,000,000 *14] 30,000
Oz=2l =2 FHI(100m)
30,000,000& *14] 30,000
O =e(2014=) tH4=2 ZHI1(100m)
30,000,000 *14! 30,000
O2el(SX=) s2 EZ(250m)
30,000,000 * 14 30,000
Os=2el(R=E1) Or=et2 ZHI(150m)
30,000,000& » 14 30,000
03 AIZSTHYI 2,000 2,000 0
OARE FCI=JA tHo|
2,000,000 2,000
Axgs N2 129,938 112,034 17,904
201 er=3| 16,200 0 16,200
01 At22telt] 14,200 0 14,200
OFQUXXIHE A2F 7€
3,500,000& 3,500
O=F2XXHE A= & 2|
100,000 7 700
OFURAME 208 2 2A =&
100,000 x10Z &+ 102 10,000
2 s3=234l 2,000 0 2,000
OFAXIHE S52= & [l
2,000,000& 2,000
301 EtE N = 113,738 112,034 1,704
07 S8 -0 - 2243 106,810 106,810 0
Oold+g & d0is
300,000 x22H * 14& 92,400
Oslolgs U 24y
20,0002 x22E +23| 122 10,560
Ooptaa=sy| 50,0002 773 3,850
11 dALEBIXNE S 6,928 5,224 1,704
OFUAXEs S B =4
1,000,000& 1,000
OO0l = HATH sS4
8,000 x22H *23| 12 4,224




2N 22
4 2% AMF 3
Cel: FoIME SISFNH(22) (SH9: )
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
O=2UXNXIAHE 29 BX S4
,000& x22H +43| 704
OZTXXIAS 28 ol
1,000,000 *14] 1,000
ANE=sXed &d 160,194 105,078 55,116
101 e124d| 78,984 74,168 4,816
M ORNZZ2NSE S 78,984 74,168 4,816
O=28 ZHIJ| JIAHHY =
100,000 x6EHx10 *33] 18,000
OB2AXY 0=y
77,0002 92 +7 2 x43] 19,404
OZEsIEA B 02y
77,0003 18 +60! 4,620
O=Xs2 L RAX S BAWY A2
77,0003 x1H 240! 18,480
Omely 22l oY
77,0002 x 12 +240 18,480
201 fet=23y| 48,710 23,410 25,300
01 At 2t 37,470 12,170 25,300
g =Ll 2,870
-HEEE L MeDl = PPEN 2
4002 *1,0000H 400
-H=01 - 2J1 & *¢ 5,000 *3000H 1,500
-SAga 0| et 40,0002 122 480
-ZEHTA FLSE 7Y
10,0003 55+53] 250
- AIM 2 10,0002 25+ 123l 240
OEET 3,800
2EHEALE Y SEALEI| HOBL
=4 2,000,000& 2,000
-ME HIEZ2EN S4 1,000,000 1,000
-HESY ZOA 24 800,000 800
ogxz 30,800
-EHIDI & XIESOHAIE) "M ZHI Xt
770,000& %102 7,700
-UEEH SZ 80 ZHISRE
770,0002 x10& *33] 23,100
2 52434l 11,240 11,240 0
O8&82= € MA 7,240
Sl sER= 400,0002 12& 4,800
-SEEE 3323 ¥ FAZe
500,000 #4042 2,000
OISAIBIEA 2L
40,0003 * 110 2 440

OAIZ2Z =X

4,000




2 22
M EEH A3
Cel: FoIME SISFNH(22) (SH9: )
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
-0I=J1 =2l ¥ |A2
1,000,000& *14] 1,000
gy 28 2 FA2d
1,200,000 14 1,200
-=Xg2 sX2cl 1,800,000& 14 1,800
206 M=4l 8,500 7,500 1,000
01 M=4l 8,500 7,500 1,000
Oy JiZste 2el € =&Y e 2
1,500,000 1,500
OZ2 L IIZSE =4 ME(ZM, 2=,
g2 8) 7¢ 6,000,000& 6,000
OMOISXAHEEESAIY HEE HZE
20,000 *50HK 1,000
405 KHAHH SH 24,000 0 24,000
01 TR ESF SHI 24,000 0 24,000
O™l MEDI & AXT| 2
24,000,000 x14! 24,000
A 2HAL(EEH) 185,104 174,008 11,096
AR HH(EEY) 68,79%6 67,620 1,176
QAR | 68,79%6 67,620 1,176
101 e124d| 68,79%6 67,620 1,176
01 2= 68,796 67,620 1,176
OAlteI 22+
11,7002 x 142 +35A1 2+ 123 68,7%6
23HI(E2Y) 116,308 106,388 9,920
JI=2&Hl 116,308 106,388 9,920
201 2= 59,168 54,988 4,180
01 AtS2t2ltl 25,808 24,428 1,380
Oogegt+=EHI 14,448
-=ZH| 8,000,000& 8,000
SEoIBY| MARE A
200,000 123 2,400
-MALE(LIZHEH) 018 ===
10,000& »202] 200
-SAH 2" 2l 154,000 * 122 1,848
- Z2 J(EST) Zdols
600,000 * 1K 600
-HAZ2 2 (AutoCAD) HZH0ISA 2
900,000 *1H 900
-FJEMH MH+=EF 7Y
100,000&+55 500
Oo2g=g 7,860
-gXeg 60,0002 1162 6,960
-MHE22X 2= 30,0002 +30! 900
O=gl 3,500,000& 3,500
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H & 0l & AHS B Ml A

2023E T 20 A UBHE|H 5K
SN 5
H: SHH AL
Sl FoIME ST SAMNE(SHH) CEREED
% » IE]
SN - BB SRI(SI) - NISAY - BES O]t e HlRE2
1=l 2,368,185 2,284,074 134,111
YO AAY] 1,980,068 1,838,176 91,8%
FOIME SXSHNL(EHH) 1,930,068 1,838,176 91,8
AR FOUSRAAY 1,133,000 1,083,000 50,000
401 AlEHI 2 SO 1,133,000 1,083,000 50,000
01 Al&H] 1,130,000 1,080,000 50,000
OE2 sHEFHl S =l ARt
10,000,0002 10,000
OTolite & 5=+ 30,000,000& 30,000
oMol A& HI 30,000,000& 30,000
OMOIE MEESAIY 30,000,000 30,000
OAIDHXl Bta=& =4 =HIUX
20,000,0002 20,000
OARR FRIZAAY MAILH S
20,000,000&4 20,000
Ooz=el(4Hel) s2 Z&H(200m)
30,000,000 %14} 30,000
2522/ (HHE2) OFAZ M <D](400m)
30,000,000 % 14! 30,000
Owizsel(#A2]) OFAR M <2((300m)
30,000,000 * 14} 30,000
OZAH2I(2HH0I) Bi4=2 &K1 (100m)
30,000,000 %14} 30,000
O3s512(RB) =2 ZA(300m)
30,000,000 % 14! 30,000
Ostof2l(AXB) 42 &XI(150m)
30,000,000 %14} 30,000
Ostolel(RHeYE) otA2 XM 2I((300m)
30,000,000 % 14! 30,000
OZLHe(&B) &2 THEZ(150m)
30,000,000 % 14! 30,000
O=xel(8&dE2) =2 ZZ(200m)
30,000,000 * 14} 30,000
O=2Xel(HY) 52 WEE(100n)
30,000,000 % 14! 30,000
OHAZ2I(HR2IH) OFA2 M 2I](500m)
30,000,000 % 14! 30,000
Og=el(erd) =2 ZZ(100m)
30,000,000 %14} 30,000
OZZ2I(BIH2) tH42 &XI(100m)
30,000,000 % 14! 30,000
OZZ2(BIHS) tH42 &XI(100m)
30,000,000 % 14! 30,000
OS22I(ADYE) OtAZ HMRI((500m)
30,000,000 %14} 30,000
OBHO{2I(H2) 42 & X (200m)
30,000,000 %14 30,000




SN SHE
MM SHH AMYAH|
CHR|: Z=0IME SX|SANM(SHH) (CH9: /M)
AE]
K- BB SR(3) - MRA - BAS ol &t e HIDSZ
O=2|(ZSY) 122 A XI(150m)
30,000,000 * 14l 30,000
O83el(20h) =2 ZZH(150m)
30,000,000 * 14l 30,000
OQEL(HIMS) =2 AXI(200m)
30,000,000 * 14! 30,000
OFZ(BERS2) &2 ZE(150m)
30,000,000 * 14l 30,000
ORI AHZI(AHOF) OFAR SIM27((300m)
30,000,000 * 14l 30,000
OZIA22| (BF2HAH) OFA R M <L2D((500m)
30,000,000 * 14! 30,000
OX A2 (2AUS) =2 FHI(150m)
30,000,000 * 14l 30,000
O XI2I(H2) Hi2=2 & XI(150m)
30,000,000 * 14l 30,000
O Xel(=4!) =2 ZZ(300m)
30,000,000 * 14! 30,000
OEXI2I(AA) T2 ZLE(250m)
30,000,000 * 14l 30,000
O XI2I(H2) Bi2=2 & XI(150m)
30,000,000 * 14l 30,000
ORE2|(QIZ) £ 2 S IEH(100m)
30,000,000 * 14l 30,000
O=A22I(Z01) BH2=2 HdI(100m)
30,000,000 * 14l 30,000
Oual1el(e=) =2 = Z(100m)
30,000,000 * 14l 30,000
OUAl2|(2AEF) &2 ZE(200m)
30,000,000 * 14l 30,000
OUAIZ2| (2E) BH4=2 ZHdI(100m)
30,000,000 * 14l 30,000
OYL2|(HA2) th2 AXI(150m)
30,000,000 * 14l 30,000
03 Al&S2CHYI 3,000 3,000 0
OAAE F0U=JAAE 20|
3,000,000 3,000
HAEE 2te 3,000 8,000 25,000
401 AlEHIZE20HY] 3,000 8,000 25,000
01 Al&HI 3,000 8,000 A5,000
OALRA! HLtg)| A X
3,000, 0002 *1CH 3,000
s X 335,788 366,376 A30,588
201 Ler2o) 149,860 183,960 A34,100
01 AtR2+2IH] 110, 160 129,960 219,800
OFRIIHE 29 ARE S 2
800,0002 * 122 9,600




2A: SHH
M SHH AL AL
Cel: =oIME SHEZIHe(sEH) (S &)
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
OFQUXXME T2 2 ZAY
100,000 *303| *24 & 72,000
OFCUIRXIEEH HE LIt
3,960,000 *7& 27,720
OFURXIHE I LRt
70,0003« 1CH* 123 840
02 22=2gH| 13,700 48,000 234,300
OF0UXXIME 3323 (&2l S)
1,500,000 «8& 12,000
O=CURXIHE ReILZI| S22
1,700,000 *14] 1,700
03 SAt2GH] 26,000 6,000 20,000
OIS Al SHOI2EH 29
8,000,000& »14! 8,000
OZLMHISA J&HX 23
18,000,000& 14! 18,000
301 LB F 185,928 182,416 3,512
07 & - 0% - tEes2as 170,600 165,920 4,680
o032 & a0z
300,000 x35F « 143 147,000
OBlol&A 9 BR4g
20,0002 *36H #23|* 12 16,800
OBt & =] 50,0002 x136% 6,800
11 HALRHIXIE 3 15,328 16,496 A1,168
O=ex s 5 HIA =4
2,000,000& 2,000
O0lZu=s FA&A =4
8,000 *35H +23|x 12& 6,720
OFCUXXIAAE 3l &HA S|
8,000 x28Y 123 2,688
O=0IRXI?&3l Ast K|
70,0003 x28F *23 3,920
UNIS=EE= DN = s e 458,280 380,800 77,480
101 QI t| 322,170 288,860 33,310
M IIHZ2ENSEs 322,170 288,860 33,310
O=2H ZHIJI JIAHEHY 212
100,000 152 x50 75,000
OXTAl 2tz JY| o182
77,0002+ 12 *100 92,400
Odt=E &4 - EANH2] o12Y
77,0003 108 %10 7,700
OZ2xd 22y 77,0003 +10E* 15 11,550
oM B4 olsy
77,0002 x1ZE 140 10,780
OMDl 28 S| 2Al o2
77,0002 2% *300 46,200
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SN EHS
33 S AE gl
Chel: FoIME SXESFNH(SE) (CHe: )
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OAIEEHIKRXIHI 4,440
-0=01 el & FAl2
3,000,000& %14 3,000
-] S YS! CTV =Al2tel
30,000 ~4LH =122 1,440
206 MH=HI 25,000 45,000 220,000
01 MZH| 25,000 45,000 /20,000
Ood Ji2ett 2el & =& Mg +¢
4,000,000& 4,000
OZ2 2 II2stet 4 M2(EM, 23,
vz ) 7 2,000,000 2,000
O/EAl =8 3ttt =4 Tz 7Y
2,000,000& 2,000
OUEAl 2HEZ H=Z M2 2
2,000,000& 2,000
O2xc| otdFA =2 e 28
15,000,000 15,000
401 AIEHIZ SR 0HYI 42,000 20,000 22,000
01 Al&HI 42,000 20,000 22,000
O ZHEISH HIAAE X
30,000,000 * 14 30,000
OMedl EotE cctva Xl
4,000,000 3CH 12,000
405 AtatE = 1,200 1,200
01 L ESFISHI 1,200 1,200
Oul=Jl 7 400,000 *3CH 1,200
HY2AAH(SEY) 438,117 395,898 42,219
el AH|(sYH) 120,744 125,580 AN4,836
el 2d| 120,744 125,580 A4,836
101 @124H| 120,744 125,580 N4,836
01 &2 117,936 125,580 AT,644
OAlteI22+E
11,7002 x24E x35A1 2+ 122 117,936
02 JIEtA = 2,808 0 2,808
OAlRAZ 25
11,7003 »1&*20A[ 2t 123 2,808
[=23H(52H) 317,373 270,318 47,055
Jl=2&3H] 317,373 270,318 47,055
201 Ler23| 109,293 106,438 2,85
01 At2teltl 46,058 45,578 480
Odgt+==H| 29,198
—=ZH| 15,000,000 15,000
-S| dMEE FY
500,000 * 122 6,000
XL E(LIZIEE) 018 =52
10,0003 %153 150




2N se
M #RSHAH|(SUH)
ool J=Zul(sgH) (G2 & 2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
AL &g 2 154,000~ 12& 1,848
“MEA 22 B=0 2
8,0002 700K 5,600
-~EHEZ2 (EST) SUO0IE
600,000& *14] 600
O=2g+d 7,860
-galg 60,0003 *1162 6,960
-MEIZSA SH+E 30,0002 *30! 900
O=gtl 9,000,000& 9,000
02 S52g4l 63,235 60,860 2,375
O=32=  HAl 32,535
-558= 300,000& * 122 3,600
AR DRSS 800,000 * 12 9,600
-GPSEEI| S4ltl 30,0002~ 122 360
-RERS 2,530 *7,5000HK 18,975
Od =t 1,500
-APRA & =AA e 1,500,000 1,500
OAlZ &8I XId 19,200
-R2o12=0] =Xl 1,800,000 1,800
HA Y BDAS /T2
3,000,000& 3,000
-SEEH |2l 1,000,000 1,000
—=E0| w2 U R
1,000,000 *5CH 5,000
-EFHE 2l ¥ ZelH |X2e
150,000 *40CH 6,000
—plgal 01x)| sz
100,000& * 12 1,200
-FUHL01Sd FH FA2c
1,200,000& 1,200
Oxtgr= Il 2,500,000 4CH 10,000
202 04l 68,400 66,800 1,600
01 2LHoIH 6,000 2,000 4,000
Oosgdd=d 80| 6,000,000& 6,000
02 A0 62,400 64,800 A2,400
OZH048l 200,000 x26E ~ 122 62,400
203 =4l 13,880 12,880 1,000
01 J122geR=a| 8,000 7,000 1,000
OJ|22g8gR=4a| 8,000,000& 8,000
02 HRAJAHARFAIH| 1,080 1,080 0
Ot =] 40,0002 =278 1,080
M EAEER=A 4,800 4,800 0
ORAN2SELRFTHI(27Y)
400,000 12& 4,800
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H & 0l & AHS B Ml A

20238 204t LB K&
SN g
I QED AL
Chel: FOIME SRS N (RAH) EERED
2 - IE!
S HH - G(B) - MRAY - BAS O]t e HlRE2
HEH 1,323,174 1,234,476 88,698
FEE AIHZHI 1,115,198 1,033,088 82,110
FOIME STt e (REH) 1,115,198 1,033,088 82,110
A2 FRISEAY 917,000 862,000 55,000
401 Al&HIZ 20| 917,000 862,000 55,000
01 AlEHI 915,000 860,000 55,000
Ok ot8&Hl S &bl LXt
5,000,000& 5,000
OMdio & S5+ 30,000,000& 30,000
OMGOI= AIZE &I 30,000,000& 30,000
OMOIE R=EsAHY 30,000,000 30,000
OATE FUSFAA AAIEH Y
20,000,000& 20,000
Ot (2N Y) =2 ZE(170m)
30,000,000 14! 30,000
Ogsel(1sY) s2 2 <=2 ZHI(100m)
30,000,000& *14! 30,000
Os8cl(2i=) 2 FH|(200m)
30,000,000 * 14 30,000
OstXel(B#&H0I12) =2 L =2 FBI(100m)
25,000,000 14! 25,000
Ostx2e/ (252 0l2) =2 FHI(100m)
20,000,000& * 14! 20,000
Oxnskel(or2et) s AXI(100m)
30,000,000 * 14! 30,000
OZHe|(0HE) =2 ZZ(150m)
30,000,000 14! 30,000
O&EJNel(EI1IE) 842 JHHI(150m)
30,000,000 14 30,000
O=del(=&=) == EHI(150m)
30,000,000 * 14! 30,000
OsHe(Y3) OrAZ HM<D1(300m)
30,000,000 14! 30,000
Osgel(#3&2) &2 MM (150m)
30,000,000 14 30,000
OFotel(¢=2) s= ZHl & 0tAZ I 2D
(250m) 30,000,000 * 14 30,000
Ontdzl(n=2) =2 ZZ(200m)
30,000,000 14! 30,000
OztEel =2 ZE&(150m)
25,000,000 14 25,000
OAZel(8F2) =2 ZE(150m)
30,000,000 * 14 30,000
Ongel(etots) == &8I(100m)
30,000,000 14! 30,000
O&Xel(£242) =2 ZE(120m)
30,000,000 14 30,000




SA: SE
Hu: S0 AZY|
celr =oldE SXEd Hd(FEY) (SH9 &)
% s IE]
SN - BB SRI(SI) - NISAY - BES O]t e HlRE2
Os82/(LS) th=2 =8I (100m)
30,000,00024 14} 30,000
O&E 12l 52 LA(100m)
30,000,0002 14} 30,000
OBL2I(HHB) 42 Ful(250m)
30,000,00024 14} 30,000
OZHe|(SME) 52 EF(200)
30,000,00021 14} 30,000
Oofatel (=281 Bi==2 Fd1(150m)
25,000,00021 144 25,000
OARRI(HEW) S2 & Hh4=2 &I (100m)
25,000,0002 14} 25,000
OIHRI(AIAR) BH4=2 =4 (150m)
30,000,00021 14} 30,000
OIH2l HE &x 20,000,0002 14} 20,000
OJfee! (FA0IB) 42 Ful(7om)
30,000,0002 14} 30,000
O%42I(22) th4=2 =H(8m)
30,000,000 14} 30,000
OT2I(LSHA) 2= X (50m)
30,000,0002 14} 30,000
03 Al&SCHE| 2,000 2,000 0
OARD FoI=gA 2|
2,000, 0002 2,000
FAE 22 20,000 20,000
401 AIEHIZ20Hb| 20,000 20,000
01 A&t 20,000 20,000
OMURI AR XD 22 L A HX
9,000, 0002 %14 9,000
GLIE mb:] 11,000,00024%14] 11,000
RFEE X9 123,028 23,008 0
301 LBHHD 123,008 23,008
07 EF - 0IF - IHESHAS 117,420 117,420
O0lFAY U MO
300,000 2424 142 100,800
Oslolats o B24Y
20, 00021 +24% <25 * 122 11,520
oSy 50,0002 +10284*13] 5,100
11 BAHAHIXIRS 5,608 5,608 0
OFQUNXEE S AKX 34
1,000,002 1,000
OOIBDS &4t 34
8, 0002 x2424x25| ¥ 122 4,608
NEEIWEEIESE 55,170 48,060 7,110
101 124l 26,550 26,100 450
04 IRIN22S 2% 26,550 26,100 450




=N REs
M SEH AIE AL
Rl FOIME =XBY A (RED) M)
SN - BE - SA(B) - NIRAY - BES o 2
OZHID| JIAHEHY 21F
100,000& x5 10«33 15,000
OEZXd 2R
77,0002 *5Z 10 *33] 11,550
201 B2 AL| 21,320 16,660 4,660
01 ArR2eltl 10,690 8,070 2,620
ke =] 2,270
-MHEES & Ml +=H PPEN & THAI=
=32 72 1,000& *2,0000H 2,000
-Mg0] SYESI| HEES S+ HE
10,000& 270K 270
o=l 3,800
=2EHHZ2s ¥ sELES)] FEHSRE
=4 2,000,000& 2,000
—&E HIA2EN 24 1,000,000& 1,000
“MERE A S4 800,000& 800
Otz 4,620
-EHID £ NES(OAIE) M S ZHl Xt
770,000& +62! 4,620
02 E324Hl 10,630 8,590 2,040
o323 £ HMAl 9,630
-SE=ElE ZE2RS
750,000& =123 9,000
-SEIIEA S22 € A2
630,000& 630
OAIZEHIR I 1,000
-0=J1 =2l & SX2c
1,000,000& 1,000
206 M=4| 7,300 5,300 2,000
01 M=l 7,300 5,300 2,000
OHEH Jtzsttt 22| & =&Y Mz 2
1,300,000& 1,300
Oz 2 II23 X4 M2 (ZM, B35,
Hz S) 7¢ 4,000,000 4,000
OMOISXEESAIY HEE S ME
20,0002 10004 2,000
HY2IEH(REH) 207,976 201,388 6,588
olERYH|(RaH 83,538 77,280 6,258
eIA2 Y| 83,538 77,280 6,258
101 el b| 83,538 77,280 6,258
01 2= 83,538 77,280 6,258
OAIIIZ224E
11,7002+ 17Z *35A1 2H+ 123 83,538
JI2Zdl(REH) 124,438 124,108 330
J123H| 124,438 124,108 330
201 B2 AL| 58,738 55,448 3,290
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A 2 o & A

Al

A

2023 Oll&t LBES|IH E2=H
A B=2H
33 =W AE gl
Crel: FOIME 2XEA JJH(22) CERL)
2 IE!
K- BB SR(3) - MRA - BAS ol &t e HIDSZ
=X 1,659,621 1,585,166 74,455
SEH A3 1,466,255 1,359,370 106,885
=oIME SX&d HH(23H) 1,466,255 1,359,370 106,885
a2 FE=SIAAMY 942,000 882,000 60,000
401 AIZHIX 20 942,000 882,000 60,000
01 AlZ28| 940,000 880,000 60,000
OkZ otd&EHl S &l Xt
5,000,000 5,000
OAIJHAl ot =& | St
15,000,000 15,000
OMolitley & S==+ 30,000,000 30,000
OMDtE Al2E EHI 30,000,000& 30,000
OMOISAEESAIY 30,000,000 30,000
OARD ZUSANY MALH B
20,000,000 20,000
OsgrRl(EdLE) =2 ZZ(200m)
30,000,000 *14] 30,000
O3g12l(a25) == &XI(200m)
30,000,000 *14] 30,000
Og21el(Lat=) bi==2 & X1(200m)
30,000,000& »14] 30,000
SF2CI(S0tES) =2 & XI(100m)
30,000,000 *14] 30,000
OJtoHel (M=) ti+=2 &I (250m)
30,000,000 *14] 30,000
Ouateioe| (22 === & XI(100m)
30,000,000& » 14 30,000
Ogexl(8d2) =2 Z(200m)
30,000,000 *14! 30,000
OJtorz2l(=220t3) ti+2 £XI(200m)
30,000,000 *14] 30,000
OgXel(%=) =& FHI(200m)
30,000,000& * 14 30,000
OgAel(g=) ti+=2 £ XI(200m)
30,000,000 *14! 30,000
ogel(a25) s2 ZZ(150m)
30,000,000 *14] 30,000
OZi2l(ZESNY) =2 ZH(150m)
30,000,000& * 14 30,000
Ogal1el(z12t5) S5 ZXI(100m)
30,000,000 *14! 30,000
Ogksd 1zl Orset2 OtAZ M <I((100m)
30,000,000 *14] 30,000
oueel(dg) 8% & bi=+=2 ZXI(100m)
30,000,000& * 14 30,000
Ootezel(2F4) =2 SIH(80m)
30,000,000 *14! 30,000




= 820
M =W AIE A
Chel: FOIME SRS H(839) (CHe: )
2 - IE!
SN - BB SRI(SI) - NISAY - BES O]t e HlRE2
ouz2zl(alEXIY) =2 A XI(100m)
30,000,000 14! 30,000
ota2el(AMgXgY) =2 ZE(200m)
30,000,000 14 30,000
Odt e 2|(F=RAF) =2 &XI(200m)
30,000,000 * 14 30,000
Odted1e|(Re =) <=2 &XI(200m)
30,000,000 14! 30,000
Os2121(rey) =2 & XI(300m)
30,000,000 14 30,000
OgXel(8&E2) OtAZ X <2D((300m)
30,000,000 * 14 30,000
O2g2e2| 0120t otAE M 2D((400m)
30,000,000& * 14! 30,000
Ogkad2e|(3122) S8 2 L AH(100m)
30,000,000 14 30,000
Ogksd2e|(3/22) == ZHI(220m)
30,000,000 * 14 30,000
OU222 (3 EZHAEAS) =2 & XI(200m)
30,000,000 14! 30,000
ORIl (AIH OIS Y) == ZEH(200m)
30,000,000 14 30,000
03 Al CHYI 2,000 2,000 0
OAn2 FRI=JAAY 20|
2,000,000& 2,000
At 2e| 10,000 10,000
401 AlEBIZ 200 10,000 10,000
01 Al&Hl 10,000 10,000
OHE=EXNHEE XS &X
10,000,000 10,000
Axgs N 103,340 103,290 50
301 LEBNEF 103,340 103,290 50
07 E& - 01 - BHREEEAE 98,500 98,450 50
O0l&E=E & 0=
300,000& x20H « 143 84,000
Oslol &4 U BR4Y
20,0002 *20H #23|* 12 9,600
OBty &=l 50,000 *98H 4,900
11 HAFRHIXIE 3 4,840 4,840 0
OFoXXEs & AL 24
1,000,000& 1,000
O0lHu=E &L =4
8,000 x20F 23| x 12& 3,840
Esxed =4 410,915 374,080 36,835
101 el H| 176,325 154,020 22,305
M I1RINZ2Z2XsE+ 176,325 154,020 22,305




2N B2
M =W AIE A
Sel: FoldE SXEE HE(22Y) (CH9: &S1)
= - d L=
SA - BE - G9I(3H) - AIRAY - BAS Ol v R HlRE2

ol &y

7700021462 x202! 9,240
OT28 EHD| 25y
100, 00024462 122433 21,600
O3IBE 24D 219y
100, 00024+ 1024 %102 %38 30,000
OFEE SH2 =¥ FY| o=y
100, 00021+ 102 153] 15,000
OJBE U FOIAF T 22| o9y
77,0002 *384* 120 27,720
OBIET U Y 1A A 02
77,0002 *38§ %2002 46,200
OueioimBel 22| oY
77,00021%3% x202! 4,620
OXFS MAH o2
77,0002 224 x202! 3,080
O U )2 20IBI2E 24D L 22|
77,0002 +22 x5 2 20 A 1,540
OIZE BEX 22N 2=
77,0002 124%1502 11,550
OE28 BAXY Q1=
77,0002 *52x32 #53] 5,775
201 Lst2 | 93,69 65,560 28,130
01 AR 22| 56,800 3,270 21,530
SHIE==1] 9,800
THERE L M| 2H PR Y
40024 1,50004 600
~ZESTA ARE P(10HA)
20,0002 +122 2,400
~EHA 9 OI2 2H0IBHAE AlEE Y|
1,000,000 +2H A 2,000
B2 2 20| 7Y 8,0002 %6005 4,800
oz 3,800
~REYHLRE Y 52ULS)| FOHB2E
24 2,000,002 2,000
-AE HIA2RX 24 1,000,00024 1,000
AR FOX 24 800,002 800
ouxz 43,200
SBEFNY 2K YR
1,200,0002 14} 1,200
-EHID| L NFS(OMAIZ) R &bl L3t
70,0002 103] 7,700
-SIEX BOX T FY Y% S
20,000,000/ %141 20,000
BIBY 2O =X LR
3,300, 0002 %14 3,300
BEX FRNS(Lel) IE =X 24X

11,000,000 & * 14! 11,000




2N B20
M S AH3H|
celr =oldE SXEd Hd(83Y) Crel ®M )
SA - B SRIBH) - MRAR - BAS A HIDEZ
02 S5=24g4l 36,890 30,290 6,600
O=s2= # HMAl 22,890
=SAHH B5R=
1,260,0002 122 15,120
=22 3523 450,000« 122 5,400
-Me] S YS! ZAIE 0TV &IIes ¥
FXAl2ell 31,5002 x50 * 122 1,890
A 2 2 20ltiE &IIR3
20,0003 20 A+ 123 480
OAIE2EbBI= X 14,000
=3 KX
10,000, 00021141 10,000
~0IF0| 42l 2 |X2
4,000,000 *14] 4,000
206 MH=H| 69,400 65,400 4,000
01 MZHl 69,400 65,400 4,000
OAIHAl Bt &2 7Y
180,000& * 1574 2 2,700
Od=d Ji2etd 2el & =&Y Me +¢
4,000,000 4,000
Oz 2 IIZ3teh 4 M2(ZEM, 2=,
Iz S) 7 2,700,000& 2,700
Osl8gx 2 =4 Mg 7
60,000,000 *14] 60,000
401 AIEHIZ SO 60,000 75,100 A15,100
01 AlZHI 60,000 75,100 A15,100
OER N2 otz Al
30,000,000& » 14 30,000
OISR MYZ It2== AlTY
30,000,000 * 14 30,000
405 AtatE = 11,500 14,000 2,500
01 TR =S FSHI 11,500 14,000 22,500
OER =M & LIS EHHREE LS|
- 10,000,000 = 1CH 10,000
OISR & S4tz SHIJ| &Y H=I] 2
500,000 *3CH 1,500
BY2IH(E3Y) 193,366 225,7% A32,430
IR AHH|(83Y) 73,710 82,110 A8,400
eIg =3l 73,710 82,110 A8,400
101 e124d| 73,710 82,110 A8,400
01 2= 73,710 82,110 A\8,400
OAlIRAZ 25
11,7002+ 152 *3BAl 2+ 123 73,710
=23dl(839) 119,656 143,686 A24,030
Jl=23H] 119,656 143,686 A24,030
201 Zet=Ehl 58,436 56,456 1,980
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